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Question 1
Question Type: MultipleChoice

Click the Exhibit button.

Your customer wants to protect a volume and replicate it to a secondary volume. The customer has tried to configure this relationship

using OnCommand System Manager. Upon reviewing this newly configured relationship, you discover that the configuration does not

satisfy the customer's stated requirements.



Referring to the exhibit, what should you do to ensure that the volume is protected?

Options: 
A- Delete the relationship and recreate it.

B- Resynchronize the relationship.

C- Initialize the relationship.

D- Change the schedule to hourly.

Answer: 
A

Question 2
Question Type: MultipleChoice

You are creating daily SnapVault backups of a NAS volume that contains the data for your business critical application. You discover

that corruption began two weeks ago on the data on that volume.

In this scenario, which statement is true?



Options: 
A- The restore is disruptive, and all of the most recent Snapshot copies are preserved.

B- The restore is nondisruptive, and all of the most recent Snapshot copies are preserved.

C- The restore is disruptive, and all Snapshot copies that are older than two weeks are preserved.

D- The restore is nondisruptive, and all Snapshot copies that are older than two weeks are preserved.

Answer: 
C

Question 3
Question Type: MultipleChoice

A storage administrator is reviewing NAS volume space allocation and is concerned that the Snapshot copies that are recently created

to protect the volumes are not storing the data from the volumes. One volume contains over 20 GB of data, although the latest SnapShot

copy contains only 198 KB of data.

In this scenario, which statement is true?



Options: 
A- ONTAP references metadata when creating Snapshot copies instead of copying data blocks.

B- The Snapshot policy is defined to create the Snapshot copy with only the most recent data changes.

C- ONTAP uses data from all Snapshot copies when restoring of the volume is necessary.

D- The Snapshot copies are created by using a background process that takes time to build.

Answer: 
A

Question 4
Question Type: MultipleChoice

A customer has developed a new application that uses Oracle with an AFF system to help track all of their shipping trucks around the

world. The customer wants to ensure that application-consistent backups are offloaded to the cloud.

In this scenario, which two solutions enable the customer to satisfy these requirements? (Choose two.)

Options: 



A- FabricPool

B- Flash Pool

C- SnapCenter

D- FlexClone

Answer: 
A, C

Question 5
Question Type: MultipleChoice

Click the Exhibit button.



A client has a SnapMirror relationship between two sites that is scheduled to run once a day at 12:15 a.m. They have a network

connection between two sites that provides 100 Mbps on bandwidth. By performing the backup at this time, they can maximize their

bandwidth use.

Referring to the exhibit, how long does the SnapMirror update take to finish?

Options: 
A- one hour

B- four hours

C- three hours

D- two hours

Answer: 
D

Question 6
Question Type: MultipleChoice



A volume on a FabricPool-enabled aggregate is consuming 10 TB of the performance tier and 90 TB of the cloud tier. A SnapMirror copy

needs to be created on a FabricPool-enabled peer cluster at a disaster recovery location.

In this scenario, how much data is transferred when the SnapMirror relationship is initialized?

Options: 
A- 100 TB

B- 200 TB

C- 10 TB

D- 90 TB

Answer: 
A

Question 7
Question Type: MultipleChoice

When you configure a SnapLock feature, where should the ComplianceClock be initialized?



Options: 
A- on each aggregate that hosts a SnapLock volume

B- on each SVM that hosts a SnapLock volume

C- on each node that hosts a SnapLock aggregate

D- on all the nodes of the cluster

Answer: 
C

Question 8
Question Type: MultipleChoice

A customer wants to assign a user to a build-in SnapCenter RBAC Role that will allow them to review and start existing SnapMirror

processes only.

In this scenario, which Role will allow the customer to accomplish this task?



Options: 
A- App Backup and Clone Admin

B- Infrastructure Admin

C- Backup and Clone Viewer

D- SnapCenter Admin

Answer: 
D

Question 9
Question Type: MultipleChoice

A customer has ONTAP 9.5 clusters running at two nearby locations. The customer wants a zero RPO for one mission-critical volume.

In this scenario, which two NetApp solutions satisfy this requirement while using the existing ONTAP clusters? (Choose two.)

Options: 



A- SnapMirror Synchronous in StrictSync mode

B- FabricPool

C- SnapMirror Synchronous in Sync mode

D- SyncMirror

Answer: 
A, C
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